T Lalm =

EHEll FEAEWTE X L D
Vi=  0.06 X  6.00 = 0. 36
Vo= 0.06 X  30.00 = 1. 80
> = 2.16 m® 2.2
IR FEAEWT [ L 0
V= 0.44 X 6.00 = 2. 64
V2= 0.50 X  30.00 = 15. 00
> = 17.64 m°® 17.6
HEL FEAEWr X L0
V= 0.38 X  6.00 = 2.28
Vo= 0.45 X  30.00 = 13. 50
>y = 15.78 m°® 15.8
el S E7HEll vV = 2.16
IR vV = 17. 64
> = 19.80 m°®
I W Y O HEL vV = 15.78
= 15.78 m°®
S Al C #2E + R ) — ( Bt + #HE ) /0.9

V= 19.80 — 15.78 /0.9 = 2.27 m’ 2.3
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44 R 7t H HAL B =
UL N= 10.000 -+ 2.000 = 5.000 A 5.00
(3fE300B)  ( L=2000, &% E&=471kg/fH )
SHEIRGRE D A o VR,
#EZL V= 0.330 X 0.030 X 10.000 = 0.099 m°® 0.10
(1:3)
HARERL A= 0.530 X 10.000 = 5.300  m? 5. 30
(RC-40, t=10cm)
HEmEEIE A= 0.530 X 10.000 = 5.300  m? 5. 30
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UZRAITE N= 10.000 =+ 2.000 5.000 A& 5. 00
(3fE300C)  ( L=2000, &% E £=584kg/{# )
SHEIRGRE D A o VR,
e LK V= 0.340 X 0.030 X 10.000 0.102 m?® 0.10
(1:3)
AR A= 0.540 X 10.000 5.400 @ m? 5. 40
(RC-40, t=10cm)
FHHEEIE A= 0.540 X 10.000 5.400  m? 5. 40
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£ R #t = =V VAR ¢ =%
a7 U—Fk V= 0.100 X 0.100 X 10.000 = 0.100 m® 0.10
(18-8-25BB)
B Hikt A= 0.100 X 0.100 X 1.000 = 0.010 m? 0.01

(=244}, t =10mm)
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